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- Instructions t:oCandidates_:

- VI Semester B .Com. Degree Exammatlon, September 2021

13627

~ Reg.No. |

- COMMERCE
. Performance Management
. (CBCS Semester Scheme)

. Maximun‘_i Marks : 70

D Answers should.: be written completely. either in Kannada or'in,‘EngliSh.,

T @
B Answer any Flve sub-questlons each corr }wer carries 2 marks =

'odsa@mcﬁdra we oI ten ugon. T8 A ao&n@,@édﬁ 2 08,

B G003 FHGTOR, @oddezo ?

2

c)

/‘g) |

‘What do you mean by d1v151ona1 performance 7
' '&zgaﬁeoja T0FYRB @ocsdem ? '

Deﬁne actmty based costing.

What is ﬂex1ble budget ‘7

: 25@53 503033, 030 Q0WFED ? -
~ What is life cycle costing ?

2363 23T, ea,oon‘ QO3 ?
What is Break even pomt ?
*:me ROTO 0TTERD ?

‘ What is zero based budget ?

LIc 5550038 eaojow ody @ocﬁdem ?
What is contrlbutlon ?

RN SOT3ER 7

. (52=10)
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'SECTION - B
| ~ ~ opert - B e
Answer any Three questions, each correct answer catries 6 marks‘.f o (3%6=18).

. m@mwm m& 3 é’ﬁe&ﬁ emsa,% B8 Naomcs eméd% 6 eaosﬁefo."

" 2. ‘ Explam the prmcrples of target costmg
D dw o BSNTY QTR

3. Usingthe following information calculate
a)  Labourcostvarience
“b)  Labour rate varience
c) Labour efﬁcency varience -
_ Standdrd hours - 20000 hrs
Actual hours 2500 hrs _ -
Standard wage rate - Rs. 15 per hour "

" Actual wage rate - Rs. 12.5 per hour T
B8 89N m&;@o&:od '
a) IRIPIZN 8/%\
b)) 3 mwd w 3, o Q4/
c’) ) wmas £ w 3, o:smem socsaao@ '(B<]
- IReess Rotirieo - 20000 Q},
TR Rowdned - 2500 |
TR0e88 80053 - Rs. 15 B8 ﬁoz-:%ﬁ
e BROTS - Rs. 12. 558 ﬁoeéﬁ

4. The followmg 1nformatlon relates to a ﬁrm .
. Selling price per unitRs.25 R
Variable cost per unit Rs.20
Fixed cost Rs.75, 000
‘Find out: :
- a)  BEPinunitsandin amount

~ b) - Find out selling prlce per umt if BEP is brought down to 2 000 umts.
=4 BINT &SN 2,00 0% ﬁ NO?/.)OCS wwd :
: =nooe B B 3,8 03RE R . Rs 25
WO Z-S?é_jw 3 Oﬁ;@&&b’.‘ﬁ_ Rs. 20
%3 Wednsd Rs.75,000
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soab&oaoaac G R
S Q) | AR B mawm«c 08 aaroscsc
R ) 208 6w :sma ROGDSIRR 2, 000 om:ownem &aab amacm S0t zﬂesomo
ﬁccsaao@owa . . :

5. From the followmg calculate cost drlver rate - |
f a) Purchase order cost 90, 000
.. b)  Material setup cost 1 e 3,00,000' N
'c?)v,',‘Productpackmgcost . 2_,00,0001 SR
' d) Machine testing cost . ,'4,00,’(}_)0‘0 O g
o e) '_“Mamtenance&cleamngcost COL15000
) "Materlalhandhngcost O 1L,50,0000
:"_:},'Cost allocatlon basxs are: . L L ‘,
) Numberofpurchaseorder 50
i)  Numberofsetup o 2000
- m) Numberofpackagedproduct @ 5,00, 00() T
' iv) ‘Number oftest - 4@ 000
W) No ofbatchrun -~

' Vi) No oftlmes matenalhandled g/ G’?q

f ?eems aSJa&oém?ocS 53?3 N csdﬁe;as: aocsa aoao:oa R
) ;;Daeawdesas’zs 90000
b) =od>o§ﬁe§*'aw§a"zs 0 3,00000

o) ImErne o008 3, 200000
@) ovognesdesy 400000
o) ‘aws—mmmmém S 1150000

D "amﬁm*afomsoojoraﬁzs ©1,50000
@t emdmso R T
o) ssaeaadesﬁe;,ooas 50
i) mmsnemesy 200
i) soomomgaam%ogs - 5,00,000
i) oswneRoss, . 4000
Y aSc%odwédowrboe@mmoaS o100
Vi) ."mmnmaﬁma;om.m'1;7. 500
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6. The budgeted expenses for the productlon 0f20000 units ina factory 1s given below |

'Elements of cost Cost'per umt
; o - Rs.
Materials, - | —— 150
 Labour o 0100
v Variable overheads _ | ', 75
| Fixed overheads (5,00,0000 - . | 25
.| Variable expenses (Direct) - 20
. Selling expenses (20% fixed) 25 -
| Dlstrlbutlon expenses (25% ﬁxed) A '}15,._ IR T
| Administration expenses (1,00,000 ﬁxed) | 10

.. Prepare a ﬂex1ble budget for the productlon of 10000 units. - ‘v
faaras‘a’)oda 20000 03RS emsadéoda 90T T wﬁsﬁo =1 %”%ocso@d

dzagw o @4 B8 R |
- ' : S @O ARs
T | sy
: F2Q0F33 3RO 100 3,434
|ocommsesge | 75 Ry
.| 4o soeer e (92.5,00, 000) 25 |
’ wdm&@ﬁedﬁﬁf@o : 20
S70083 Sied (20% A0) 25
28T Begped (25% 4T) 15
@23 Segpied (1,00,000 fixed) | 10

10000 Q‘b&)@ﬁ‘ﬁ%’ WOT O3, 03.)62&) 303R08.,

SECTION C
PR - A - ,
Answer any".l‘-hree questions, each correct answer carries 14 marks.‘ : (3x14=42) :
3R TTTR o BBOR QBORD. 3,8 TOCIRG UZTE, 14 03D, |

Al

} 7. Explain. the process of Performance Managemeht Information System. R
. 0RFER0E BEe3 BRtdod HART i D308 w000



L1 BRARY

W N © 13627

‘Prepare a flexible budget from the following information for 8000 and 12000 units. For -
production of 10000 units. The expenses incurred are as follows: '

Particulars ‘ Per Unit
| T o ~ Rs.
| Dxrect Mater1a1 . | 1120
D1rect1abour o 60
e Varlable over heads IR 50
 |Fixed over heads (Rs3, oo 0000 | 30
Vanable expenses (Dlrect) ._ | BEE 10
,’Sellmg expenses (10% ﬁxed) 30
Admlmstratlve expenses B ] 10. .
| (Rs.1, OO 000 fixed for all levels of productlon ,
‘ Dlstnbutlon expenses (20% ﬁxed) @%
| Total cost . 3 R Lml

8000 0P T8 12000 omzow R oy od.) ;g'%ao@om " eens ﬁzsumfo
10000 o&mmssﬁ@ﬁ Neemﬁd

aadm‘fo | . uodo mawfﬁ‘

| o (Rs)

| swummon, | 120
segz0® | 60
wEebB e, | s0

| -%adaeeaﬁza; (%.3,00,000) o i 30

| wsermdeosy, 0 | 10

| o0t w523 $.(10% 23) | | 30
o Eodnog AT uEvmes |
a"w(dmoooom | 10 i
;asemmgs(m%%d)' B P (O

" [PTO.
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The bag manufacturmg company sells dlfferent varities of bags where in the cost &
selling price is maintained same for all. The company wants to expand 1ts busmess whlcl
would have the following expenses & revenues : '
Selling price per bag Rs.300

Variable cost per bag Rs.195

Salesmen’s commission (variable) Rs.15 per bag ﬁxed expenses 1ncludes Rent Rs 60, 00(

' Salary - Rs.2,81,000, Advertisement - Rs.79,000 Sundries Rs.30, 000

You are required to calculate” 4
a) Annual BEP in units & sales value

" b).  Profit/loss of the stores if 35,000 bags are sold : i L
20T 23,7 BOIRORE FOTROI0 2023 RTWOOD AR DeS0 23 n’mf:’p mdoéda ée

aﬁaémoda @oﬁéodoab 3303000 IFFORT. f&dd as"zs ned '&’sfﬁﬁoéd
RPoo8 5,323 (2,000 m n‘ﬁ) Rs.300 :

 BedR ms (25003 &30 ,¥7) Rs. 195

e FINIZYNTIY, 50O e

10.,

R0 de:a@ (ud@amw) (2,000 23 ﬁ‘ﬂ’) Rs. 15 : e
Nd d%m@ﬁ Rs.60 OOO,NO?.JQ; Rs.2, 81 000, zsaéoecraso % Rs 79 000 °a3c3 dzs Rs 30 OOO

a) XD mNa 20T R Rs. e, -

b) 35,000 2, n"ﬁ@é RRTOOT & a{/;m

The standard cost of a certamtcomponents 1§$P’mical mixture is .-

40% Material ‘X’ - Rs.90 perton

60% Material ‘Y’ - Rs. 70 per ton :

A standard loss of 10% is expected in product1on
Actual cost of materials used:is :

90 tons - Material ‘X’ - Rs.94 per ton

160 tons - Material ‘Y” - Rs.56 per ton

Actual output is 230 tons
Calculate all material variances.

200030 TORRCIINT $03, €983 330658 ST -

40% X’ Tsoge Rs.90 8 ua'nt

60% Y’ Sz Rs. 70 5,8 6

GBI, 10% T ' assazés %, D0e3 TN,
mﬁ,m *aaﬁoh aﬁzszjieéo

90 835° X’ -*cmsr B8 W't Rs.94

160 83 Y’ mwrwé 3573 Rs.56

DN em:«sacﬁa? 230 ésaemfo
B3 ﬁoe@zﬁ &)wdﬁ@od DO, "amﬁ w 3 oabmfab FOTD &@o&)@
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L . , 1, v
";_ L The company has produced a batch of 3,000 comgoﬁ

- Rs.2,40,000 and labour cost was Rs 4,60,000. The usage

f follows o

@)

%

13627

’Tlle '.l)ud'geted'overhead and cost driver \folumes of Shiva Ltd. are as follows:
Cost Pool o 'B‘udgeted Cost Driver | Budgéted
ovel'heads | ,uolume Rs.
.' Rs.

Mafelflal PrQCulement : ‘3.,20,000_- No. of orllers_ | : :,80‘0 '

| -Machivn‘e Set#‘up‘f S 3,00,000 No. of setups 500‘
'_.‘_"Maiutenaucei ‘. l>95,000. ’..Maintenance llours . ‘ 3",0(_)‘.0 ‘

- Quallty contro1 o : A 1-,7(),0‘0(‘) No. of inspections\ B }85‘0}
Mach‘irie'r‘y: A 4,25,0&%}){ ruachme hours 25000 |-

S _Material orders

- Setup of machines

L Calculate the cost driver rates that are used for computing the appropriate amount of overhead
- tot this batch and ascertaln the cost of the batch of the component using the activity based . |
costmg ' ‘

~ Maintenance hours

No. of Inspections

Machine 'hours L

30
35

700

a0

2500

/

of ‘A’ Its materiéil cost was
iyities of this batch are as

y

[P.T.O.
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) @aaasws 90T afmzsaeﬁaﬁd)as e 5323 amra‘a zswﬁ wbamsa és é%ocsoéd’

| &4, ﬁo\zjﬁﬁ 0N ~a:§2§5 WOT ~ esoz:m.w mwmw-v
| SRR | ' Zosne s,
SoewRy, o, |
i, DO 3,20,000 | e oS "800
- ":,osa‘os”‘*swaé | N “‘j\3,oo,ooof "méwsﬁésosg | 500
"awraw;a@ | 195 -oob | zo'ﬁémmaﬁm | 3,000
- romsEbs, :oeas-odo | 170000 ,;wa@ge%ﬂmogg 850
e fosaos e | 425000 o379 0 25000
| vaw@OdJ WOmd Cnialevslu] u&@@:} OOO eﬁorieéoej ‘A’ Guapiai 30@@@ fach *Dmﬂ ﬁ
s, Rs2,40,000 563 809 2 F0 000 uRaIRtAOR, BHOREY DG ¢
| é%ozsoéd : &Qq RTINS EE o
TR ST 30 'QJ’
. oho3 WIS 35
oRFEs rotnd . 700
SooensA0, 40
© o0s, emwcx&raeﬁ O 2500

: 3 Bor® Nfasmcs dsewaﬁz&d ddaﬁab DT mww Wwoi@emed 53?;3 m@% AleIVY
L 6033380@0&30 85333 ?5&33&5&3% 53208 932339‘ DPITHIOT B8 3055(5 wcsacsr 303336%033@«
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